

Advances in Mathematics: Scientific Journal 14(3) (2025), 293-300

ISSN: 1857-8365 (printed); 1857-8438 (electronic)

https://doi.org/10.37418/amsj.14.3.3

A (λ, V) -GENERALISED GAMMA FUNCTION AND ITS PROPERTIES

Mohammed Hashimu¹ and Mohammed Muniru Iddrisu

ABSTRACT. This paper introduces a (λ,v) generalization of the Gamma function and establishes some of its properties. The Hölder's and Young's inequalities and analytical techniques were used to establish the results.

1. Introduction

The gamma function, an extension of factorial notation to non-integer values, appears in many areas of mathematics. It is arguably one of the most extensively studied special functions. The gamma function has a wide range of applications in mathematical analysis, number theory, combinatorics, mathematical modeling, statistics, probability theory, engineering, and physics, among others. It is typically defined by [1]

$$\Gamma(\delta) = \int_0^\infty t^{\delta - 1} e^{-t} dt,$$

for $\delta > 0$ and

$$\Gamma(\delta) = \lim_{h \to \infty} \frac{h! h^{\delta}}{\delta(\delta+1)(\delta+2)\cdots(\delta+h)}.$$

The gamma function's extensive use across mathematics has motivated research into its generalizations, with several extensions already established. For example,

2020 Mathematics Subject Classification. 33B15, 25D07, 26D15.

Key words and phrases. Gamma function, Generalization, Properties, Inequalities.

Submitted: 02.08.2025; Accepted: 18.08.2025; Published: 05.09.2025.

¹corresponding author

see [2–7,9]. Two Key generalizations relevant to this work include the v -analogue and the λ - analogue of the gamma function.

The v-analogue (or v-extension/deformation) of the Gamma function, introduced by [2] for v > 0 and t > 0 is given as

$$\Gamma_v(\delta) = \int_0^\infty e^{-t} \left(\frac{t}{v}\right)^{\frac{\delta}{v}-1} dt.$$

The λ -analogue of the gamma function, introduced by [3], for $\lambda>0$ and x>0 is given as

 $\Gamma_{\lambda}(x) = \int_{0}^{\infty} e^{-\lambda t} t^{x-1} dt.$

Inspired by the v -analogue and the λ - analogue of the gamma function, this paper unifies and extends these concepts by introducing a (λ, v) -generalized gamma function and establishing its properties and inequalities.

2. Preliminaries

This section provides essential background materials, including established definitions and lemmas, which are fundamental to the proofs of our main results. These foundational elements are drawn from existing literature.

Theorem 2.1. [8] Let p, q > 1 and $\frac{1}{p} + \frac{1}{q} = 1$. If f and g are continuous real valued functions defined on [a, b] then the inequality

$$\int_a^b |f(t)g(t)|dt \le \left[\int_a^b |f(t)|^p dt\right]^{\frac{1}{p}} \left[\int_a^b |g(t)|^q dt\right]^{\frac{1}{q}},$$

holds. With equality holding if and only if $|f(x)|^p = c|g(x)|^{p-1}$. If p = q = 2 the inequality becomes Schwarz's inequality.

Theorem 2.2. [8] If $m \ge 0$, $n \ge 0$ are nonnegative real numbers and if p > 1 and q > 1 are real numbers such that $\frac{1}{p} + \frac{1}{q} = 1$, then

$$mn \le \frac{m^p}{p} + \frac{n^q}{q}.$$

Equality holds if and only if $m^p = n^q$.

Definition 2.1. For h > 0 and $t \in \mathbf{R}$,

$$\lim_{h \to \infty} \left(1 - \frac{t}{h} \right)^h = e^{-t}.$$

3. Main Results

This section introduces a two-parameter generalization of the gamma function known as the (λ, v) -generalized gamma function, and explores some of its key properties.

Definition 3.1. Suppose $\delta, \lambda, v \in \mathbb{R}^+$. A (λ, v) -generalized Gamma function is defined as

(3.1)
$$\Gamma_{\lambda,v}(\delta) = \int_0^\infty e^{-\lambda t} \left(\frac{t}{v}\right)^{\frac{\delta}{v}-1} dt.$$

When both λ and v are equal to 1, the $\Gamma_{\lambda,v}(\delta)$ gamma function converges to the classical gamma function, $\Gamma(\delta)$.

Proof. Let $u = \lambda t$, then $dt = \frac{1}{\lambda} du$, and substituting into (3.1) gives

(3.2)
$$\Gamma_{\lambda,v}(\delta) = \int_0^\infty \left(\frac{u}{\lambda v}\right)^{\frac{\delta}{v}-1} e^{-u} \cdot \frac{1}{\lambda} du.$$

Simplifying yields

$$\Gamma_{\lambda,v}(\delta) = \lambda^{-\frac{\delta}{v}} v^{1-\frac{\delta}{v}} \int_0^\infty u^{\frac{\delta}{v}-1} e^{-u} du.$$

Thus,

(3.3)
$$\Gamma_{\lambda,v}(\delta) = \lambda^{-\frac{\delta}{v}} v^{1-\frac{\delta}{v}} \Gamma\left(\frac{\delta}{v}\right).$$

Lemma 3.1. Let $\delta, \lambda, v \in \mathbb{R}^+$. Then the (λ, v) -generalized Gamma function satisfies the property

$$\Gamma_{\lambda,v}(\delta) = \lim_{h \to \infty} \frac{h! \left(\frac{h}{\lambda v}\right)^{\frac{\delta}{v}} v^{2+h}}{\delta(\delta + v)(\delta + 2v) \cdots (\delta + hv)}.$$

Proof. Referring to Definition 2.1 and equation (3.3) we have

(3.4)
$$\Gamma\left(\frac{\delta}{v}\right) = \lim_{h \to \infty} \int_0^h t^{\frac{\delta}{v} - 1} \left(1 - \frac{t}{h}\right)^h dt.$$

By change of variables and letting $\omega = \frac{t}{h}, A_h = \int_0^h t^{\frac{\delta}{v}-1} \left(1 - \frac{t}{h}\right)^h dt$ we obtain

$$A_h = h^{\frac{\delta}{v}} \int_0^1 (1 - \omega)^h \omega^{\frac{\delta}{v} - 1} d\omega.$$

Using Integration by parts, we obtain

$$\frac{A_h}{h^{\frac{\delta}{v}}} = (1 - \omega)^h \left. \frac{v\omega^{\frac{\delta}{v}}}{\delta} \right|_0^1 + \frac{vh}{\delta} \int_0^1 (1 - \omega)^{h-1} \omega^{\frac{\delta}{v}} d\omega$$

$$= \frac{vh}{\delta} \int_0^1 (1 - \omega)^{h-1} \omega^{\frac{\delta}{v}} d\omega.$$

Applying integration by parts repeatedly, we have

(3.5)
$$A_{h} = h^{\frac{\delta}{v}} \frac{vh \times v(h-1) \times v(h-2) \times \cdots v(h-(h-1))}{\delta \times (\delta+v) \times (\delta+2) \times \cdots (\delta+(h-1)v)} \int_{0}^{1} \omega^{\frac{\delta}{v}+h-1} d\omega$$
$$= \frac{h^{\frac{\delta}{v}} h! v^{h+1}}{\delta(\delta+v)(\delta+2v) \cdots (\delta+hv)}$$

Using (3.4) and (3.5), we obtain

$$\Gamma\left(\frac{\delta}{v}\right) = \lim_{h \to \infty} A_h = \lim_{h \to \infty} \frac{h^{\frac{\delta}{v}} h! v^{h+1}}{\delta(\delta + v)(\delta + 2v) \cdots (\delta + hv)}.$$

Applying (3.3) gives

$$\Gamma_{\lambda,v}(\delta) = \lambda^{-\frac{\delta}{v}} v^{1-\frac{\delta}{v}} \lim_{h \to \infty} \frac{h^{\frac{\delta}{v}} h! v^{h+1}}{\delta(\delta+v)(\delta+2v) \cdots (\delta+hv)}.$$

Simplifying yields

$$\Gamma_{\lambda,v}(\delta) = \lim_{h \to \infty} \frac{h! \left(\frac{h}{\lambda v}\right)^{\frac{\delta}{v}} v^{2+h}}{\delta(\delta + v)(\delta + 2v) \cdots (\delta + hv)}.$$

Lemma 3.2. For $\delta, \lambda, v \in \mathbb{R}^+$, the (λ, v) -generalized Gamma function satisfies the property

$$\Gamma_{\lambda,v}(v) = \frac{1}{\lambda}.$$

Proof. By replacing δ with v in (3.3) yields

$$\Gamma_{\lambda,v}(v) = \lambda^{-\frac{v}{v}} v^{1-\frac{v}{v}} \Gamma\left(\frac{v}{v}\right) = \lambda^{-1} \times 1 \times \Gamma(1) = \frac{1}{\lambda}.$$

Lemma 3.3. For $\delta, \lambda, v \in \mathbb{R}^+$, the (λ, v) -generalized Gamma function satisfies the property

$$\Gamma_{\lambda,v}(\delta+v) = \frac{\delta}{\lambda v^2} \Gamma_{\lambda,v}(\delta).$$

Proof. By replacing δ with $(\delta + v)$ in (3.1) and integrating by parts, we obtain

$$\begin{split} \Gamma_{\lambda,v}(\delta+v) &= \int_0^\infty e^{-\lambda t} \left(\frac{t}{v}\right)^{\frac{\delta+v}{v}-1} dt \\ &= \int_0^\infty e^{-\lambda t} \left(\frac{t}{v}\right)^{\frac{\delta}{v}} dt \\ &= \frac{-e^{-\lambda t} \left(\frac{t}{v}\right)^{\frac{\delta}{v}}}{\lambda} \bigg|_0^\infty + \frac{\delta}{\lambda v^2} \int_0^\infty e^{-\lambda t} \left(\frac{t}{v}\right)^{\frac{\delta}{v}-1} dt \\ &= \frac{\delta}{\lambda v^2} \int_0^\infty e^{-\lambda t} \left(\frac{t}{v}\right)^{\frac{\delta}{v}-1} dt \\ &= \frac{\delta}{\lambda v^2} \Gamma_{\lambda,v}(\delta). \end{split}$$

Lemma 3.4. For $\delta, \lambda, v \in \mathbb{R}^+$, the (λ, v) -generalized Gamma function satisfies the property

$$\lim_{\lambda \to \infty} \Gamma_{\lambda, v}(\delta) = 0.$$

Proof. By using (3.3), we obtain

$$\lim_{\lambda \to \infty} \Gamma_{\lambda, v}(\delta) = \lim_{\lambda \to \infty} \lambda^{-\frac{\delta}{v}} v^{1 - \frac{\delta}{v}} \Gamma\left(\frac{\delta}{v}\right) = 0.$$

Lemma 3.5. If $\delta, \lambda, v \in \mathbb{R}^+$, the (λ, v) -generalized Gamma function satisfies the property

$$\Gamma_{\lambda,v}^{(n)}(\delta) = \int_0^\infty \frac{e^{-\lambda t}}{v^n} \left(\frac{t}{v}\right)^{\frac{\delta}{v}-1} \left(\ln\left(\frac{t}{v}\right)\right)^n dt, \quad \delta, \lambda, v > 0.$$

where $n \in \mathbb{N}_0$.

Proof. By repeating the differentiation of the integrand of (3.1) with respect to δ , yields the desired result.

Theorem 3.1. Suppose λ , $v \in \mathbb{R}^+$, $\tau > 1$, and $\frac{1}{\tau} + \frac{1}{\rho} = 1$. Then the inequality

$$\Gamma_{\lambda,v}\left(\frac{a}{\tau} + \frac{b}{\rho}\right) \le \frac{1}{\tau} \Gamma_{\lambda,v}(a) + \frac{1}{\rho} \Gamma_{\lambda,v}(b)$$

holds for a, b > 0.

Proof. By replacing δ with $\left(\frac{a}{\tau} + \frac{b}{\rho}\right)$ in (3.1) and using Theorem 2.1, we have

$$\begin{split} &\Gamma_{\lambda,v}\left(\frac{a}{\tau} + \frac{b}{\rho}\right) \\ &= \int_0^\infty \left(\frac{t}{v}\right)^{\frac{1}{v}\left(\frac{a}{\tau} + \frac{b}{\rho}\right) - \left(\frac{1}{\tau} + \frac{1}{\rho}\right)} e^{-\lambda t \left(\frac{1}{\tau} + \frac{1}{\rho}\right)} dt \\ &= \int_0^\infty \left(\frac{t}{v}\right)^{\frac{1}{\tau}\left(\frac{a}{v} - 1\right)} \left(\frac{t}{v}\right)^{\frac{1}{\rho}\left(\frac{b}{v} - 1\right)} e^{-\lambda t \left(\frac{1}{\tau}\right)} e^{-\lambda t \left(\frac{1}{\rho}\right)} \\ &= \int_0^\infty \left(\frac{t}{v}\right)^{\frac{1}{\tau}\left(\frac{a}{v} - 1\right)} e^{-\lambda t \left(\frac{1}{\tau}\right)} \left(\frac{t}{v}\right)^{\frac{1}{\rho}\left(\frac{b}{v} - 1\right)} e^{-\lambda t \left(\frac{1}{\rho}\right)} dt \\ &\leq \left(\int_0^\infty \left(\left(\frac{t}{v}\right)^{\frac{1}{\tau}\left(\frac{a}{v} - 1\right)} e^{-\lambda t \left(\frac{1}{\tau}\right)} dt\right)^{\tau} \int_{\tau}^{\frac{1}{\tau}} \left(\int_0^\infty \left(\left(\frac{t}{v}\right)^{\frac{1}{\rho}\left(\frac{b}{v} - 1\right)} e^{-\lambda t \left(\frac{1}{\rho}\right)} dt\right)^{\rho} \right)^{\frac{1}{\rho}} \\ &= \left(\int_0^\infty \left(\frac{t}{v}\right)^{\frac{a}{v} - 1} e^{-\lambda t} dt\right)^{\frac{1}{\tau}} \left(\int_0^\infty \left(\frac{t}{v}\right)^{\frac{b}{v} - 1} e^{-\lambda t} dt\right)^{\frac{1}{\rho}} \\ &= (\Gamma_{\lambda,v}(a))^{\frac{1}{\tau}} \left(\Gamma_{\lambda,v}(b)\right)^{\frac{1}{\rho}}. \end{split}$$

Applying Theorem 2.2 gives

$$\Gamma_{\lambda,v}\left(\frac{a}{\tau} + \frac{b}{\rho}\right) \le \frac{1}{\tau} \Gamma_{\lambda,v}(a) + \frac{1}{\rho}\Gamma_{\lambda,v}(b).$$

Remark 3.1. Putting $\tau = \rho = 2$ in (3.1) gives

$$2\Gamma_{\lambda,v}\left(\frac{a+b}{2}\right) \le \Gamma_{\lambda,v}(a) + \Gamma_{\lambda,v}(b).$$

Theorem 3.2. Suppose $\lambda, v \in \mathbb{R}^+, \tau > 1$, $\frac{1}{\tau} + \frac{1}{\rho} = 1$. Then the inequality

$$\tau \rho \Gamma_{\lambda,v}(a+b) < \rho \Gamma_{\lambda,v}(a\tau) + \tau \Gamma_{\lambda,v}(b\rho)$$

holds for a, b > 0.

Proof. By replacing δ with (a + b) in (3.1) and using Theorem 2.1, we have

$$\begin{split} &\Gamma_{\lambda,v}(a+b) \\ &= \int_0^\infty \left(\frac{t}{v}\right)^{\left(\frac{a+b}{v}\right) - \left(\frac{1}{\tau} + \frac{1}{\rho}\right)} e^{-\lambda t \left(\frac{1}{\tau} + \frac{1}{\rho}\right)} dt \\ &= \int_0^\infty \left(\frac{t}{v}\right)^{\frac{a}{v} - \frac{1}{\tau}} \left(\frac{t}{v}\right)^{\frac{b}{v} - \frac{1}{\rho}} e^{-\lambda t \left(\frac{1}{\tau}\right)} e^{-\lambda t \left(\frac{1}{\rho}\right)} dt \\ &= \int_0^\infty \left(\frac{t}{v}\right)^{\frac{a}{v} - \frac{1}{\tau}} e^{-\lambda t \left(\frac{1}{\tau}\right)} \left(\frac{t}{v}\right)^{\frac{b}{v} - \frac{1}{\rho}} e^{-\lambda t \left(\frac{1}{\rho}\right)} dt \\ &\leq \left(\int_0^\infty \left(\left(\frac{t}{v}\right)^{\frac{a}{v} - \frac{1}{\tau}} e^{-\lambda t \left(\frac{1}{\tau}\right)}\right)^{\tau}\right)^{\frac{1}{\tau}} \left(\int_0^\infty \left(\left(\frac{t}{v}\right)^{\frac{b}{v} - \frac{1}{\rho}} e^{-\lambda t \left(\frac{1}{\rho}\right)}\right)^{\rho}\right)^{\frac{1}{\rho}} \\ &= \left(\int_0^\infty \left(\frac{t}{v}\right)^{\frac{a\tau}{v} - 1} e^{-\lambda t} dt\right)^{\frac{1}{\tau}} \left(\int_0^\infty \left(\frac{t}{v}\right)^{\frac{b\rho}{v} - 1} e^{-\lambda t}\right)^{\frac{1}{\rho}} \\ &= (\Gamma_{\lambda,v}(a\tau))^{\frac{1}{\tau}} \left(\Gamma_{\lambda,}(b\rho)\right)^{\frac{1}{\rho}} .\end{split}$$

Applying Theorem 2.2 yields

$$\tau \rho \Gamma_{\lambda v}(a+b) < \rho \Gamma_{\lambda v}(a\tau) + \tau \Gamma_{\lambda v}(b\rho).$$

Remark 3.2. Putting $\tau = \rho = 2$ in (3.2) gives

$$2\Gamma_{\lambda,\nu}(a+b) \leq \Gamma_{\lambda,\nu}(2a) + \Gamma_{\lambda,\nu}(2b).$$

CONFLICT OF INTEREST

The authors declare no competing interests.

REFERENCES

- [1] M. ABRAMOWITZ, I. STEGUN: Handbook of mathematical functions: with formulas, graphs, and mathematical tables, Courier Corporation. 55 (1964).
- [2] E. DJABANG, K. NANTOMAH, M.M. IDDRISU: On a v-analogue of the Gamma function and some associated inequalities, Journal of Mathematics and Computer Science, 11(1) (2020), 74-86.
- [3] K. NANTOMAH, I. EGE: $A \lambda$ analogue of the gamma function and its properties, Researches in Mathematics, **30**(2) (2022), 18-29.
- [4] NANTOMAH, K., PREMPEH, E., & TWUM, S. B.: On a (p, k)-analogue of the Gamma function and some associated inequalities. *Moroccan Journal of Pure and Applied Analysis*, 2(2), (2016),79-90.
- [5] R. DIAZ, C. TERUEL: q, k-generalized gamma and beta functions, Journal of Nonlinear Mathematical Physics, **12**(1) (2005), 18-134.
- [6] I. EGE: On Defining the (p, q, k)-Generalized Gamma Function, Note Mat., 39(1) (2019), 107-116.
- [7] S. MUBEEN, G. RAHMAN, M. ARSHAD: $k \gamma$, $k \beta$ matrix functions and their properties, J. Math. Comput. Sci. **5**(5) (2015), 647-657.
- [8] G.H. HARDY, J.E> LITTLEWOOD, G. PÓLYA: *Inequalities*, Cambridge university press, (1952).
- [9] D.S. Moak: *The q-gamma function for* q > 1, Aequationes mathematicae **20**(1) (1980), 278-

DEPARTMENT OF MATHEMATICS

University For Development Studies

TAMALE,

GHANA.

Email address: Mohammedhashimu2015@gmail.com

DEPARTMENT OF MATHEMATICS

University For Development Studies

TAMALE,

GHANA.

Email address: mmuniru@uds.edu.gh